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1. ›÷ÉÛ ï×õ¸Û¶Ûà ÜÅÛÜ¾Û¤éø¦ø¶Ûà Š©¸ÛÛþù¶Û “Û¾Û©ÛÛ 40,000 …éïõ¾ÛÛé¶Ûà ™öé. ÍÛÛ¾ÛÛ¶ýÛ “Û¾Û©ÛÛ 90% …é ¶Û‘õà ¬ÛýÛéÅÛ 
™öé. Š©¸ÛÛþù¶Û ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ …éïõ¾Ûþùà¥ø ` 22 ™öé. ÜÍ¬ÛÁõ ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛ× ¸ÛÁõÛé“Û ”Û˜ÛÛÙ ` 14,40,000 ™öé.  14 

 Ü¼Û¶Û Š©¸ÛÛþùïõàýÛ ¸Û¦ø©ÛÁõÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 
 ˜ÛÜÅÛ©Û : ÈÛÐüàÈÛ¤øà ` 8,00,000, ÈÛé̃ ÛÛ¨Û ` 1,60,000 

 ÜÍ¬ÛÁõ : ÈÛÐüàÈÛ¤øà ` 7,00,000, ÈÛé̃ ÛÛ¨Û ` 3,08,000 

 ïõÛ¾Û•ÛàÁõà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

 Š©¸ÛÛþù¶Û : 32,000 …éïõ¾ÛÛé, ÈÛé̃ ÛÛ¨Û : 30,000 …éïõ¾ÛÛé, ÉÛÄõ¶ÛÛé Í¤øÛéïõ (©ÛíéýÛÛÁõ) : 2,000 …éïõ¾ÛÛé. 
 …é ¶ÛÛêµÛÈÛÛ¾ÛÛ× …ÛÈýÛä× ™öé ïéõ ¾ÛÛÅÛ ÍÛÛ¾ÛÛ¶Û ”Û˜ÛÙ …×þùÛ›÷ ïõÁõ©ÛÛ× ` 1,60,000 ÈÛµÛä ™öé. 
 …éïõ¾Ûþùà¥ø ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û ` 150 Ðü©Ûà. 
 ÍÛà¾ÛÛ¶©Û ¸Û¦ø©ÛÁõ …ÛµÛÛÜÁõ©Û …¶Ûé ÍÛ¾ÛÛÈÛéÉÛà ¸Û¦ø©ÛÁõ …ÛµÛÛÜÁõ©Û …ÛÈÛïõ¶Ûä× ¸ÛªÛïõ ©ÛíéýÛÛÁõ ïõÁõÛé. ¶ÛºõÛ¶Ûä× 

¾ÛéÇÈÛ¨Ûà ¸ÛªÛïõ ¸Û¨Û ©ÛíéýÛÛÁõ ïõÁõÛé. 
…¬ÛÈÛÛ 

 ¶Ûà˜Ûé¶ÛÛ¶ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé :  14 

 (a) ÍÛÅÛÛ¾Û©Ûà¶ÛÛé •ÛÛÇÛé ` 4,00,000 (ÈÛé̃ ÛÛ¨Û¶ÛÛ× 40%) ™öé.  
  ¶ÛºõÛ ›÷¬¬ÛÛ¶ÛÛé •Ûä̈ ÛÛé«ÛÁõ 25% ™öé.  

  •Û¨Û©ÛÁõà ïõÁõÛé : 

  (i) ÍÛ¾Û©Ûæ¤ø Ý¼Ûþäù 
  (ii) ` 15,00,000¶ÛÛ× ÈÛé̃ ÛÛ¨Û ¸ÛÁõ ¶ÛºõÛé. 
 

 (b) ÁõÛ¾Û ÜÅÛÜ¾Û¤éø¦ø ³ùÛÁõÛ ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛæÁõà ¸ÛÛ¦øÈÛÛ¾ÛÛ× …ÛÈÛà ™öé : 
ÈÛÌÛÙ 2013 (`̀̀̀) 2014 (`̀̀̀) 

ÈÛé̃ ÛÛ¨Û 4,05,000 5,13,000 

¶ÛºõÛé 10,800 32,400 

  •Û¨Û©ÛÁõà ïõÁõÛé : 

   (i) ¶ÛºõÛ ›÷¬¬ÛÛ¶ÛÛé •Ûä̈ ÛÛé«ÛÁõ 
   (ii) ÜÍ¬ÛÁõ ”Û˜ÛÙ 
   (iii) ¶ÛºõÛé/(”ÛÛé¤ø) ` 6,48,000¶ÛÛé ÈÛé̃ ÛÛ¨Û ¸ÛÁõ. 
   (iv) ` 1,08,000¶ÛÛ ¶ÛºõÛ ¾ÛÛ¤éø ›÷ÄõÁõà ÈÛé̃ ÛÛ¨Û. 
   (v) ÍÛ¾Û©Ûä¤ø Ý¼Ûþäù 
   (vi) 2014 ¾ÛÛ¤éø ÍÛÅÛÛ¾Û©Ûà¶ÛÛé •ÛÛÇÛé. 



19J-102 2  

2. ÜÐü¾Û ï×õ¸Û¶Ûà ¼Û›ÛÁõ¾ÛÛ× ªÛ¨Û ¸ÛéþùÛÉÛÛé¶Ûä× Š©¸ÛÛþù¶Û ïõÁõà ÈÛé̃ ÛÛ¨Û ïõÁéõ ™öé. ïõÅÛÛïõ þùà¥ø ¾Û›æ÷Áõà ”Û˜ÛÙ ` 22 ™öé. 
¾Û›æ÷ÁõÛé¶Ûà …™ö©Û ™öé. ¶Ûà˜Ûé¶Ûà ¼ÛÛ¼Û©ÛÛé µýÛÛ¶Û¾ÛÛ× ÅÛÛé : 14 

  (…éïõ¾Û þùà¥ø ` ¾ÛÛ×) 

ÜÈÛ•Û©ÛÛé 
¸ÛéþùÛÉÛ 
M 

¸ÛéþùÛÉÛ 
N 

¸ÛéþùÛÉÛ 
O 

ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û 200 138 170 

Š©¸ÛÛþùïõàýÛ ¸Û¦ø©ÛÁõ :  ˜ÛÜÅÛ©Û 103.20 70 84.80 

   ÜÍ¬ÛÁõ 54.40 39.60 42 

Ü¼Û¶Û Š©¸ÛÛþùïõàýÛ ¸Û¦ø©ÛÁõ :  ˜ÛÜÅÛ©Û 10 7.90 8.50 

   ÜÍ¬ÛÁõ 14.20 11.80 12.40 

Š©¸ÛÛþùïõàýÛ ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ¾ÛÛ× ÍÛ¾ÛÛýÛéÅÛ ¾Û›æ÷Áõà ”Û˜ÛÙ 48.40 33 35.20 

¾ÛÐü«Û¾Û Š©¸ÛÛþù¶Û …¶Ûé ÈÛé̃ ÛÛ¨Û (…éïõ¾ÛÛé¾ÛÛ×) 3600 8000 5700 

 Š¸ÛÁõ¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà : 

 (i) ˆÌ¤ø©Û¾Û ¸ÛéþùÛÉÛ Ü¾ÛËÛ ¶Û‘õà ïõÁõÛé …¶Ûé (ii) ¶ÛºõÛïõÛÁõïõ©ÛÛ¶Ûä× ¸ÛªÛïõ …éÈÛà µÛÛÁõ¨ÛÛ ÍÛÛ¬Ûé ©ÛíéýÛÛÁõ ïõÁõÛé ïéõ 
ïõÛé̂  …ÈÛÁõÛéµÛ ¶Û¬Ûà. 

…¬ÛÈÛÛ 
 (a) …éïõ ï×õ¸Û¶Ûà ¼Ûé Ü½Û·Û ¸ÛéþùÛÉÛÛé ¼Û¶ÛÛÈÛé ™öé, … …¶Ûé ¼Û ›÷é¾Û¶ÛÛé …¶Ûä’õ¾Ûé …éïõ¾Ûþùà¥ø ºõÛÇÛé ` 50 

…¶Ûé ` 40 ™öé. ©Ûé¾Û¶Ûä× Š©¸ÛÛþù¶Û, ÍÛ¾ÛÛ¶Û Š©¸ÛÛþù¶Û ¸ÛóÜ’õýÛÛ ³ùÛÁõÛ ¬ÛÛýÛ ™öé …¶Ûé ¼Ûé ›ä÷þùÛ ¼Û›ÛÁõÛé¾ÛÛ× 
ÈÛé̃ ÛÛ¨Û ¬ÛÛýÛ ™öé. Š©¸ÛÛþù¶Û “Û¾Û©ÛÛ 40,000 ¾ÛÛ¶ÛÈÛ ïõÅÛÛïõÛé¶Ûà ™öé. … ¶ÛÛ …éïõ¾Ûþùà¥ø Š©¸ÛÛþù¶Û 
¾ÛÛ¤éø ªÛ¨Û ¾ÛÛ¶ÛÈÛ ïõÅÛÛïõÛé …¶Ûé ¼Û ¶ÛÛ …éïõ¾Ûþùà¥ø Š©¸ÛÛþù¶Û ¾ÛÛ¤éø 1 ¾ÛÛ¶ÛÈÛ ïõÅÛÛïõ ÈÛ¸ÛÁõÛýÛ ™öé. 
…×þùÛ›÷ ¸Ûó¾ÛÛ¨Ûé … ¶ÛÛ× 12000 …éïõ¾ÛÛé …¶Ûé ¼Û ¶ÛÛ× 10,000 …éïõ¾ÛÛé ÈÛé̃ Ûà ÉÛïõÛÉÛé. …Û 
¾ÛýÛÛÙþùÛ…Ûé¶ÛÛ …ÛµÛÛÁéõ ¸ÛéþùÛÉÛÛé¶Ûä× ÈÛé̃ ÛÛ¨Û •Û¾Ûé ©Ûé Ü¾ÛËÛ¨Û¾ÛÛ× ¬Ûˆ ÉÛïõÉÛé. ¶ÛºõÛ¶ÛÛ ¾ÛÐü«Û¾ÛàïõÁõ¨Û 
¾ÛÛ¤éø LP ¾ÛÛé¦éøÅÛ ÜÈÛïõÍÛÛÈÛÛé.  7 

 

 (b) ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûà µÛÛÁõ¨ÛÛ…Ûé …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ˜Û˜ÛÛë. 7 

 

3. ÁõÛµÛÛ ï×õ¸Û¶Ûà¶ÛÛ ÍÛ×̃ ÛÛÅÛïõÛé ¸ÛÛÍÛé ÜÈÛÍ©ÛÁõ¨Û¶Ûà …éïõ ýÛÛé›÷¶ÛÛ ™öé. ©Ûé¾Û¨Ûé þéùÉÛ¶Ûà Š«ÛÁõ ¼ÛÛ›ä÷ ¶ÛÈÛÛ ¼Û›ÛÁõ¶ÛÛ× 
ÜÈÛïõÛÍÛ …×•Ûé …ÛýÛÛé›÷¶Û ïõÁéõÅÛ ™öé.  14 

 ÍÛæÜ˜Û©Û ÈÛµÛÛÁõÛ…Ûé : 

 (i) ¤éøÜÅÛÜÈÛ¡ö¶Û ›ÛÐéüÁÛ©Ûõ ”Û˜ÛÙ 25% ¬Ûà ÈÛµÛÉÛé. 
 (ii) ÈÛµÛÛÁõÛ¶ÛÛ× Í¤øÛºõ¶Ûà Ü¶Û¾Û¨Ûæïõ – ÈÛÛÜÌÛÙïõ ”Û˜ÛÙ ` 40,000. 

 (iii) ¾ÛäÍÛÛºõÁõà ”Û˜ÛÛÙ 10%¬Ûà ÈÛµÛÉÛé. 
 (iv) ÈÛé̃ ÛÛ¨Û 10,000 …éïõ¾ÛÛé¬Ûà ÈÛµÛÉÛé. 
  ˜ÛÛÅÛä ÈÛÌÛÙ¶Ûä× ÈÛé̃ ÛÛ¨Û ¼Û›÷é¤ø ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé Ðü©Ûä× :   (`̀̀̀    000 ¾ÛÛ×) 

ÜÈÛ•Û©ÛÛé `̀̀̀ `̀̀̀ 

ÈÛé̃ ÛÛ¨Û : 40,000 …éïõ¾ÛÛé, …éïõ¾Ûþùà¥ø ` 27 ÅÛé”Ûé  1,080 

ÈÛé̃ ÛÛ¨Û ¸Û¦ø©ÛÁõ :   

¤éøÜÅÛÜÈÛ¡ö¶Û ›ÛÐéüÁõÛ©Û ”Û˜ÛÙ 110  

Í¤øÛºõ ¸Û•ÛÛÁõ 90  

¾ÛäÍÛÛºõÁõà ”Û˜ÛÛÙ 40  

ÈÛÐüàÈÛ¤øà ”Û˜ÛÛÙ 20  

…¶ýÛ ”Û˜ÛÛÙ 20 280 

 …éïõ¾Ûþùà¥ø Š©¸ÛÛþù¶Û ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ ` 12 ™öé. 
 (i) ÈÛµÛÛÁõÛ¶ÛÛ ÈÛé̃ ÛÛ¨Û ¸ÛÁõ ÈÛµÛÛÁõÛ¶ÛÛ ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ ¶Û‘õà ïõÁõÛé …¶Ûé ÍÛæ̃ Û¶Û ïõÁõÛé ïéõ ï×õ¸Û¶Ûà…é ¶ÛÈÛÛ 

¼Û›ÛÁõ ¾ÛÛ¤éø ›÷ÈÛä× ›Ûé̂ …é ïéõ ¶ÛÐüá. 
 (ii) ©ÛºõÛÈÛ©Û ¸Û¦ø©ÛÁõ-Š¸Û›÷¶Ûä× ¸ÛªÛïõ ©ÛíéýÛÛÁõ ïõÁõÛé. 

…¬ÛÈÛÛ 
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 •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé :  14 

 (a) ÍÛà¾ÛÛ¶©Û ¸Û¦ø©ÛÁõ …¶Ûé ©ÛºõÛÈÛ©Û ¸Û¦ø©ÛÁõ ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û …Û¸ÛÛé. 
 (b) ÍÛäÍÛ×•Û©Û (ÍÛ×¼Û×ÜµÛ©Û) ¸Û¦ø©ÛÁõ¶ÛÛé ”ýÛÛÅÛ ŠþùÛÐüÁõ¨Û ³ùÛÁõÛ ÍÛ¾Û›ÛÈÛÛé. 
 (c) …éïõ ï×õ¸Û¶Ûà…é ` 1,00,000¾ÛÛ× ýÛ×ªÛ ”ÛÁõà²ä Ðü©Ûä×. ›÷é¶Ûà ˜ÛÛȩ́ Û¦éø Ýïõ¾Û©Û ` 30,000 ™öé, ¸ÛÁ×õ©Ûä ©Ûé 

Ü¼Û¶Û Š¸ÛýÛÛé•Ûà ™öé …¶Ûé ÈÛé̃ Ûà ÉÛïõÛýÛ ©Ûé¾Û ¶Û¬Ûà. ›Ûé ï×õ¸Û¶Ûà ` 40,000¶ÛÛ× ”Û˜ÛÙ¬Ûà ýÛ×ªÛ¾ÛÛ× ºéõÁõºõÛÁõ 
ïõÁéõ ©ÛÛé ©Ûé ` 65,000 ¾ÛÛ× ÈÛé̃ Ûà ÉÛïõÛýÛ. 

  •Û¨Û©ÛÁõà ïõÁõÛé : 

  (i) …ÍÛ×¼Û×ÜµÛ©Û ¸Û¦ø©ÛÁõ 
  (ii) ÍÛ×¼Û×ÜµÛ©Û ¸Û¦ø©ÛÁõ 
  (iii) ÍÛ×¼Û×ÜµÛ©Û Š¸Û›÷ 
  (iv) ÈÛµÛÛÁõÛ¶ÛÛé ÅÛÛ½Û 
 

4. (a) ›÷ÄõÁõà ÍÛ¾ÛýÛ¶ÛÛ …Ü½Û•Û¾Û¶ÛÛ× ÅÛ“Û¨ÛÛé …¶Ûé Š°éùÉÛÛé ˜Û˜ÛÛë. 7 

    …¬ÛÈÛÛ 

  ÅÛ“ýÛÛ×ïõ ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶ÛÛ× ¾Ûä”ýÛ ÅÛ“Û¨ÛÛé ˜Û˜ÛÛë. 
 

 (b) ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé :  4 

  (i) ¼Û•ÛÛ¦ø¶ÛÛ ¸ÛóÛÜ¸©Û Í¬ÛÛ¶ÛÛé. 
  (ii) ¸ÛéþùÛÉÛ œ÷ÈÛ¶Û˜Û’õ.  

  (iii) ÍÛ¾Û›ÛÈÛÛé : ÅÛ“ýÛÛ×ïõ ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û. 
 

 (c) ¶Ûà˜Ûé¶ÛÛ ÜÈÛµÛÛ¶ÛÛé ”ÛÁõÛ ™öé ïéõ ”ÛÛé¤øÛ ©Ûé ›÷¨ÛÛÈÛÛé : 3 

  (i) ¸Û¦ø©ÛÁõ ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û¾ÛÛ× ¸ÛéþùÛÉÛ œ÷ÈÛ¶Û˜Û’õ ”ýÛÛÅÛ Š¸ÛýÛÛé•Ûà ™öé.  

  (ii) ÅÛ“ýÛÛ×ïõ ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û …é ÍÛ×̃ ÛÛÅÛïõàýÛ ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û¬Ûà ÜÈÛÉÛéÌÛ ™öé. 
  (iii) ¾ÛÛÅÛ ÍÛÛ¾ÛÛ¶Û ›÷ÄõÁõàýÛÛ©Û …ÛýÛÛé›÷¶Û …é ïõÛé¾¸ýÛä¤øÁõ …ÛµÛÛÜÁõ©Û Š©¸ÛÛþù¶Û ÍÛÛÁõ¨Ûà ¸Û±ùÜ©Û ™öé. 
 

5. þùÁéõïõ ¸ÛóÊ¶Û ¾ÛÛ¤éø …Û¸ÛéÅÛÛ ÜÈÛïõÅ¸ÛÛé¾ÛÛ×¬Ûà ÍÛÛ˜ÛÛ ›÷ÈÛÛ¼Û¶Ûà ¸ÛÍÛ×þù•Ûà ïõÁõÛé. 14 

 (1) ÅÛ“ýÛÛ×ïõ ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û ¸ÛÜÁõ¼ÛÇÛé¶Ûé ÍÛ×ïõÜÅÛ©Û ïõÁéõ ™öé ›÷éÈÛÛ ïéõ 
  (a) ¶ÛºõÛ …ÛýÛÛé›÷¶Û  (b) ¼Û›ÛÁõ ÍÛÈÛë“Û¨Û 
  (c) ¾ÛæÅýÛ ÜÈÛÊÅÛéÌÛ¨Û  (d) Š¸ÛÁõ¶ÛÛ× ¼ÛµÛÛ 
 (2) ÅÛ“ýÛÛ×ïõ ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û¶ÛÛé ›÷¶¾Û 
  (a) 1960¾ÛÛ× …¾ÛéÜÁõïõÛ¾ÛÛ× ¬ÛýÛÛé. (b) 1970¾ÛÛ× …¾ÛéÜÁõïõÛ¾ÛÛ× ¬ÛýÛÛé. 
  (c) 1960¾ÛÛ× ›Û¸ÛÛ¶Û¾ÛÛ× ¬ÛýÛÛé.  (d) 1970¾ÛÛ× ›Û¸ÛÛ¶Û¾ÛÛ× ¬ÛýÛÛé. 
 (3) ›÷ÄõÁõà ÍÛ¾ÛýÛ¶ÛÛé …Ü½Û•Û¾Û þäùÁõ ïõÁõÈÛÛ ¸ÛÁõ ½ÛÛÁõ ¾Ûæïéõ ™öé ______ 

  (a) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ¼Û•ÛÛ¦ø ¾ÛÛ¤éø (b) Ü¾ÛÅÛïõ©Û ¼Û•ÛÛ¦ø ¾ÛÛ¤éø 
  (c) ÍÛ¾ÛýÛ ¼Û•ÛÛ¦ø ¾ÛÛ¤éø  (d) Š¸ÛÁõ¶ÛÛ× ¼ÛµÛÛ 
 (4) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ÍÛ×¼Û×ÜµÛ©Û ¸Û¦ø©ÛÁõ ™öé ? 

  (a) ÈÛéÁõÐüÛŠÍÛ ÍÛ•ÛÈÛ¦ø¶Ûà ¸Û¦ø©ÛÁõ. 
  (b) ÈÛéÁõÐüÛŠÍÛ¶ÛÛ× ïõ¾ÛÙ̃ ÛÛÁõà…Ûé¶Ûà ¸Û¦ø©ÛÁõ. 
  (c) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶ÛÛ ÁõÛéïõÛ¨Û ¾ÛÛ¤éø ÅÛàµÛéÅÛ þéùÈÛÛ¶ÛÛ ÈýÛÛ›÷¶Ûà ¸Û¦ø©ÛÁõ. 
  (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ. 
 

 (5) þùÁéõïõ ¸ÛéþùÛÉÛé, ¸ÛéþùÛÉÛ œ÷ÈÛ¶Û˜Û’õ¶ÛÛ ©Û¼Û‘õÛ ›ÛéÈÛÛ¶ÛÛ× ÐüÛéýÛ ™öé. 
  (a) …Û ÍÛÛ˜Ûä ÜÈÛµÛÛ¶Û ™öé.  (b) …Û ”ÛÛé¤äø ÜÈÛµÛÛ¶Û ™öé. 
  (c) …Û …×ÉÛ:©Û ÍÛÛ˜Ûä ÜÈÛµÛÛ¶Û ™öé. (d) …Û …ÍÛ×¼Û×ÜµÛ©Û ÜÈÛµÛÛ¶Û ™öé. 
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 (6) ÍÛ¾ÛÛÈÛéÉÛà …¶Ûé ÍÛà¾ÛÛ¶©Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¾ÛÛ× ¾ÛæÇ½Ûæ©Û ©ÛºõÛÈÛ©Û _____¶Ûà ÜÐüÍÛÛ¼Ûà …ÍÛÁõ¶ÛÛé ™öé. 
  (a) ïõÛÁõ”ÛÛ¶ÛÛ ÜÍ¬ÛÁõ ”Û˜ÛÙ  (b) ÈÛÐüàÈÛ¤øà ÜÍ¬ÛÁõ ”Û˜ÛÙ 
  (c) ÈÛé̃ ÛÛ¨Û ÜÍ¬ÛÁõ ”Û˜ÛÙ  (d) Š¸ÛÁõ¶ÛÛ× …éïéõýÛ ¶ÛÐüá 
 

 (7) …éïõ ï×õ¸Û¶Ûà, …éïõ ¸ÛéþùÛÉÛ¶Ûä× Š©¸ÛÛþù¶Û …¶Ûé ÈÛé˜ÛÛ¨Û ïõÁéõ ™öé. ÍÛÛ¸©ÛÛÜÐüïõ 5,760 …éïõ¾ÛÛé¶ÛÛ 
Š©¸ÛÛþù¶Û¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé : 
 …éïõ¾Ûþùà¥ø (`̀̀̀) …éïõ¾Ûþùà¥ø (`̀̀̀) 

ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û  160 

¼ÛÛþù ¸Û¦ø©ÛÁõÛé :   

 ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ 80  

 ÜÍ¬ÛÁõ ¸Û¦ø©ÛÁõ 50 130 

¶ÛºõÛé   30 

  ÍÛÛ¸©ÛÛÜÐüïõ ÍÛ¾Û©Ûæ¤ øÝ¼Ûþäù ïéõ¤øÅÛÛ …éïõ¾ÛÛé¶Ûä× ÐüÉÛé ? 

  (a) 1800   (b) 2880 

  (c) 3600   (d) 9600 
 

 (8) ¼Û›÷é¤ø ¾Ûä›÷¼Û¶Ûä× ÈÛé̃ ÛÛ¨Û 20,000 …éïõ¾ÛÛé ™öé. …éïõ¾Ûþùà¥ ` 24¶Ûà ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Ûé ºõÛÇÛéø          
` 1,80,000 ™öé. ÜÍ¬ÛÁõ …éïõ¾Ûþùà¥ø ¸Û¦ø©ÛÁõ ` 6 ›÷é ÈÛé̃ ÛÛ¨Û¶ÛÛ ›÷¬¬ÛÛ ¸ÛÁõ …ÛµÛÛÜÁõ©Û ™öé. 
…éïõ¾Ûþùà¥ø ¼Û›÷é¤ø ¾Ûä›÷¼Û¶Ûà ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ ïéõ¤øÅÛà ÐüÉÛé ?  

  (a) ` 3   (b) ` 9 

  (c) ` 15   (d) ` 18 
 

 (9) ©ÛºõÛÈÛ©Û ¸Û¦ø©ÛÁõ ÍÛ×¼Û×µÛ µÛÁõÛÈÛé ™öé. 
  (a) ¦æø¼ÛéÅÛà ¸Û¦ø©ÛÁõ ÍÛÛ¬Ûé  (b) ÍÛ×¼Û×ÜµÛ©Û ¸Û¦ø©ÛÁõ ÍÛÛ¬Ûé 
  (c) …íéÜ©ÛÐüÛÜÍÛïõ ¸Û¦ø©ÛÁõ ÍÛÛ¬Ûé (d) Š¸ÛÁõ¶ÛÛ× …éïéõýÛ ¶ÛÐüà 
 

 (10) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä ÅÛ“Û¨Û ÍÛ×¼Û×ÜµÛ©Û ¸Û¦ø©ÛÁõ¶Ûä× ¶Û¬Ûà ? 

  (a) ©Ûé ½ÛÜÈÛÌýÛ¶Ûà ¸Û¦ø©ÛÁõ ™öé (b) ©Ûé ›ÛÈÛïõ ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü ™öé 
  (c) ©Ûé …íéÜ©ÛÐüÛÜÍÛïõ ¸Û¦ø©ÛÁõ ™öé (d) Š¸ÛÁõ¶ÛÛ× …éïéõýÛ ¶ÛÐüà 
 

 (11) 10,000 …éïõ¾ÛÛé ¾ÛÛ¤éø ÍÛÛ¾ÛÛ¶ýÛ Š©¸ÛÛþù¶Û ¸Û¦ø©ÛÁõ, ÍÛà¾ÛÛ¶©Û ¸Û¦ø©ÛÁõ Ðéü¥øÇ ` 1,00,000 Ðü©Ûà 
šýÛÛÁéõ ÍÛ¾ÛÛÈÛéÉÛà ¸Û¦ø©ÛÁõ Ðéü¥øÇ ` 1,20,000 Ðü©Ûà. …éïõ¾Ûþùà¥ø ÜÍ¬ÛÁõ ïõÛÁõ”ÛÛ¶ÛÛ ¸Û¦ø©ÛÁõ ïéõ¤øÅÛà 
ÐüÉÛé ? 

  (a) ` 10   (b) ` 12 

  (c) ` 2   (d) Š¸ÛÁõ¶ÛÛ× …éïéõýÛ ¶ÛÐüà 
 

 (12) ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û ________ ¾ÛÛ¤éø ™öé. 
  (a) ˆÌ¤ø©Û¾Û Ü¶Û¨ÛÙýÛ –Û¦ø©ÛÁõ (b) ¾ÛÐü«Û¾ÛàïõÁõ¨Û 
  (c) ¶ýÛæ¶Û©Û¾ÛàïõÁõ¨Û  (d) Š¸ÛÁõ¶ÛÛ× ¼ÛµÛÛ 
 

 (13) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛÛ “ÛéªÛÛé ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û¶ÛÛ× ™öé ? 

  (a) Š©¸ÛÛþù¶Û ÍÛ×̃ ÛÛÅÛ¶Û  (b) ¾ÛÛïëõ¤øá•Û ÍÛ×̃ ÛÛÅÛ¶Û 
  (c) ¶ÛÛ¨ÛÛïõàýÛ ÍÛ×̃ ÛÛÅÛ¶Û  (d) Š¸ÛÁõ¶ÛÛ× ¼ÛµÛÛ 
 

 (14) ˜ÛÛÈÛàÄõ¸Û ¸ÛÜÁõ¼ÛÇ 

  (a) …™ö©Û þùÉÛÛÙÈÛé ™öé.  (b) …ÈÛÁõÛéµÛ ¼Û©ÛÛÈÛé ™öé. 
  (c) ˆÌ¤ø©Û¾ÛàïõÁõ¨Û ¾ÛÛ¤éø ™öé. (d) Š¸ÛÁõ¶ÛÛ× ¼ÛµÛÛ 

_______ 
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1. The production capacity of JAS Ltd is of 40,000 units. Normal capacity is determined 

at 90%. The production variable cost is ` 22 per unit. Fixed factory overheads are of           

` 14,40,000. Non-production costs are as follows : 14 

 Variable : Administration ` 8,00,000, Selling ` 1,60,000 

 Fixed     : Administration ` 7,00,000, Selling ` 3,08,000 

 Operating data are as follows : 

 Production : 32,000 units, Sales : 30,000 units, Opening Stock(Finished) : 2,000 units. 

 It was reported that material cost was increased by ` 1,60,000 against estimate. 

 Selling price per unit was ` 150. 

 Prepare income statement as per marginal cost basis and absorption cost basis. Also 

prepare reconciliation statement of profit. 

OR 

 Attempt the followings :  14 

 (a) Margin of safety is ` 4,00,000 (40% of sales) P/V ratio is 25%.  

  Calculate : 

  (i) Break even point 

  (ii) Amount of profit on sales of ` 15,00,000  

 

 (b) Ram Ltd. has provided following information : 

Years 2013 (`̀̀̀) 2014 (`̀̀̀) 

Sales 4,05,000 5,13,000 

Profit 10,800 32,400 

  Calculate : 

   (i) P/V Ratio 

   (ii) Fixed cost 

   (iii) Profit/(Loss) when sales is ` 6,48,000. 

   (iv) Sales required to earn profit of ` 1,08,000. 

   (v) Break even point. 

   (vi) Margin of safety for 2014. 
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2. Him company producing and selling three products in the market. Labour hour rate is      

` 22. There is shortage of labour. Consider the following informations. 14 

  (Per unit in `) 

Particulars 
Product 

M 

Product 

N 

Product 

O 

Selling price 200 138 170 

Manufacturing cost :  Variable 103.20 70 84.80 

   Fixed 54.40 39.60 42 

Non Manufacturing cost :  Variable 10 7.90 8.50 

   Fixed 14.20 11.80 12.40 

Labour cost included in manufacturing variable cost 48.40 33 35.20 

Maximum production and sales (units) 3600 8000 5700 

 From the above information : 

 (i)  Determine optimum product mix and  

 (ii)  Prepare profitability statement assuming that there is no constraint.  

OR 

 (a) A company manufactures two different products A and B. Their per unit 

contribution is ` 50 and ` 40 respectively. They are produced in a common 

production process and are sold in two different markets. Production capacity is 

of 40,000 man hours. Three man hours are consumed for one unit production of A 

and one hour for one unit production of B. As per estimates 12000 units of A and 

10,000 units of B can be sold. Subject to these limitations, products can be sold in 

any combination. Develop LP model for maximization of profit. 7  
 

 (b) What is linear programming ? Discuss its assumptions and limitations. 7 

 

3. There is one expansion proposal before management of Rudha Ltd. They have planed 

to develop new market in the north side of country. 14 

 Proposed incremental : 

 (i) Television advertisement expense would increase by 25%. 

 (ii) Additional staff appointment, yearly expense ` 40,000. 

 (iii) Travelling expense would go up by 10%. 

 (iv) Sales would increase by 10,000 units. 

 Sales budget of the current year was as follows :  (`̀̀̀ in 000) 

Particulars `̀̀̀ `̀̀̀ 

Sales : 40,000 Units @ ` 27 per unit  1,080 

Selling Costs :   

Television advertisement 110  

Staff salary 90  

Travelling expenses 40  

Administrative expenses 20  

Other expenses 20 280 

 Per unit production variable cost is ` 12. 

 (i) Determine incremental return on incremental sales and suggest whether company 

should go for new market or not. 

 (ii) Prepare differential cost and revenue statement. 

OR 
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 Attempt any two :  14 

 (a) Differentiate between marginal and differential costing. 

 (b) Explain the concept of relevant cost with illustration. 

 (c) A company had purchased machine for ` 1,00,000. It has book value of ` 30,000, 

but has become absolute and cannot be sold. However if the firm is willing to 

modify the machine at a cost of ` 40,000 it can be sold for ` 65,000. 

  Determine : 

  (i) Irrelevant cost 

  (ii) Relevant cost 

  (iii) Relevant revenue 

  (iv) Incremental benefit 

 

4. (a) Discuss characteristics and objectives of just in time approach. 7 

    OR 
  Discuss main features of target costing. 
 

 (b) Attempt any two :  4 

  (i) Sources of Waste. 

  (ii) Product Life Cycle.  

  (iii) Explain : Target costing. 
 

 (c) State whether following statements are true or false. 3 

  (i) Product Life Cycle is useful concept in cost accounting.  

  (ii) Target costing is more specific than management accounting. 

  (iii) Material requirement planning is a computerized production scheduling system. 

 

5. Select the correct answer from given alternatives for each question. 14 

 (1) Target costing is linking factors like 

  (a) Profit planning  (b) Market survey 

  (c) Value analysis  (d) All of the above 
 

 (2) Target costing is emerged in 

  (a) America in the year 1960 (b) America in the year 1970 

  (c) Japan in the year 1960 (d) Japan in the year 1970 
 

 (3) JIT focuses on elimination of 

  (a) Wastage of material (b) Wastage of asset 

  (c) Wastage of time  (d) All of the above 
 

 (4) Which of the following is inventory related costs ? 

  (a) Cost of warehouse utilities. 

  (b) Cost of warehouse employees. 

  (c) Interest cost related to the debt that funds the inventory investment. 

  (d) All of the above. 
 

 (5) Each product has to face stages of product life cycle. 

  (a) This is correct statement 

  (b) This is incorrect statement 

  (c) This is partially correct statement 

  (d) This is irrelevant statement 
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 (6) The basic difference between absorption and marginal cost is accounting effect of 

  (a) Factory fixed cost (b) Administration fixed cost 

  (c) Selling fixed cost  (d) None of these 
 

 (7) A company manufactures and sells a single product. The following datas relate to 

a weekly production of 5,760 units. 

 Per unit (`̀̀̀) Per unit (`̀̀̀) 
Selling price  160 

Less costs :   

 Variable cost 80  

 Fixed cost 50 130 

Profit   30 

  What is weekly break even point in units ? 

  (a) 1800   (b) 2880 

  (c) 3600   (d) 9600 
 

 (8) Budgeted sales is 20,000 units. Total contribution is ` 1,80,000 at selling price of 

` 24 per unit. Fixed costs is ` 6 per unit based on budgeted sales quantity. What is 

budged variable cost per unit ?  

  (a) ` 3   (b) ` 9 

  (c) ` 15   (d) ` 18 
 

 (9) Differential cost deals with 

  (a) Sunk cost  (b) Relevant cost 

  (c) Historical cost  (d) None of these  
 

 (10) Which of the following is not characteristic of relevant cost ? 

  (a) It is future cost  (b) It is cash out flow 

  (c) It is historical cost (d) None of these 
 

 (11) For 10,000 units, normal production cost under marginal cost was ` 1,00,000 

while under absorption cost was ` 1,20,000. What will be per unit factory fixed 

cost ? 

  (a) ` 10   (b) ` 12 

  (c) ` 2   (d) None of these 
 

 (12) Linear programming deals for 

  (a) Optimal decision making (b) Maximization 

  (c) Minimization  (d) All of the above 
 

 (13) Which of the following are, areas of Linear programming ? 

  (a) Production Management (b) Marketing Management 

  (c) Financial Management (d) All of the above 
 

 (14) Key factor 

  (a) Indicates shortage (b) Deals with hurdle 

  (c) Deals with optimization (d) All of the above 

 

___________ 


